C:# Checking Division Answers

Name:
Check each answer. Determineif the answer is'correct' or 'not'. Answers
7/ Division problems can be 263 + 8=3217 182+6=2915
checked by multiplying the 39 29 1
quotient by the divisor and then 3 6
adding the remainder. X X
256 174 2
If the answer is the same as the + 7 + 5
& dividend, it is correct. 263 179 |3

1) 773+5=15413

3) 687+2=2343rl

5 662+9=73r3

7) 253+6=42r1

9 403-9=44r2

2) 362+4=90r2

4) 733+9=183r1

6) 995+2=110r5

8) 239+2=119r1

10) 652+5=13012

10.
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Checking Division Answers Name: Answer Key
Check each answer. Determineif the answer is'correct' or 'not'. ANnswers
/ Division problems can be 263+ 8=32r7 182 +6=29r5 \
checked by multiplying the - 29 1 correct
quotient by the divisor and then 6
adding the remainder. x 8 a
256 174 2 correct
If the answer is the same as the + 7 + 5
& dividend, it is correct. 263 179 Wi E correct
1) 773+5=154r3 154 2) 362+4=90r2 90 4 not
X 3 x 4 5. not
770 360
+ 3 + 2 6. not
773 362
7. correct
3) 687+2=343r1 343 4) 733+9=183r1 183
i _2 i 9 8. correct
686 1647
+ 1 + 1 0. nOt
687 1648 o correct
5 662:9=73r3 73 6) 995:2=110r5 110
x 9 x 2
657 220
+ 3 O
660 225
7) 253+6=42r1 42 8 239+2=119r1 119
X 6 x 2
252 238
+ 1 + 1
253 239
9 403:9=4412 44 10) 652+5=130r2 130
x 9 x b5
396 650
+ 2 + 2
398 652
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